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Triangle Arrangement 

Directions (1-5): Study the following information 

carefully and answer the questions given below: 

Six persons i.e. Gaurav, Kinjal, Dolly, Naina, Vikky and 

Paras are sitting around a triangular table. Three of them 

are sitting at the corner of the table and the other three 

are sitting at the middle of the table. All of them are 

facing inside the table.  

Gaurav sits second to the right of Dolly. Two persons sit 

between Gaurav and Vikky. Kinjal sits to the immediate 

left of Vikky. Two persons sit between Paras and Kinjal. 

Naina does not sit at the middle side of the table. 

 

1. Which among the following pairs sit immediate left 

and immediate right of each other’s respectively? 

A) Gaurav, Paras 

B) Vikky, Dolly 

C) Naina, Kinjal 

D) Both A and B 

E) Both B and C 

 

2.How many persons sit between Vikky and the 

person sits to the immediate right of Gaurav? 

A) 1 

B) 2 

C) 3 

D) 4 

E) Both A and C 

 

3. Who among the following sits to the immediate left 

of the person who sits third to the left of Paras? 

A) Person sits second to the right of Vikky 

B) Person sits in front of Dolly 
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C) Person sits to the immediate left of Gaurav 

D) Both A and B 

E) Both A and C 

 

4. __ Sits fifth to the left of Dolly and sits __ to the left 

of Kinjal. 

A) Gaurav, Fourth 

B) Paras, Fifth 

C) Gaurav, Fifth 

D) Paras, Third 

E) None of These 

 

5. Who sits exactly between Naina and Paras? 

A) Person sits second to the right of Dolly 

B) Person sits third to the left of Kinjal 

C) Person sits fifth to the right of Paras 

D) Both A and B 

E) Both A and C 

 

Directions (6-10): Study the following information 

carefully and answer the questions given below: 

Five persons i.e. Mishti, Samir, Pulkit, Akshat and Kiran 

are sitting around a six seated (three seats at the corner 

and three seats at the middle) triangular table. One seat 

of the table is Vacant. All of them are facing inside the 

table.  

Akshat and Kiran are immediate neighbours of each 

other. Mishti faces Kiran. Pulkit and Samir are sitting 

opposite to each other. One seat is there between Samir’s 

seat and Mishti’s seat. Vacant place is in the middle of 

the table. Kiran doesn’t sit second to the left of Pulkit. 

 

6. Who among the following sits exactly between 

Mishti and Samir? 

A) Person sits fourth to the left of Mishti 

B) Person sits third to the right of Samir 

C) No one 

D) Either A or C 

E) Either B or C 

 

7. __ sit to the immediate left of Kiran. 

A) Person sits fifth to the left of Pulkit 

B) Person sits fifth to the right of Kiran 

C) Person sits infront of Vacant seat 

D) Both A and B 

E) All A, B and C 

 

8. How many persons sit between Akshat and Mishti 

when counted from the right of Akshat? 

A) 4 

B) 3 

C) 2 

D) 1 

E) 0 

 

9. Which among the following pairs are immediate 

neighbours of each other? 

A) Person sits to the immediate left of Kiran and Pulkit 

B) Akshat and the person sits third to the left of Samir 

C) Person sits third to the left of Mishti and Pulkit 

D) Both A and B 

E) Both A and C 

 

10. Who among the following sits second to the right 

of Akshat? 

A) Person sits to the immediate right of Kiran 

B) Person sits to the immediate left of Mishti 

C) Person sits second to the right of Pulkit 

D) Both A and B 

E) Both A and C 

 

Directions (11-15): Study the following information 

carefully and answer the questions given below: 

Six persons i.e. K, L, M, N, O and P are sitting around a 

triangular table. Two persons are sitting on each side of 

the table. All of them are facing inside the table.  

Two persons sit between M and O. N sits second to the 

right of O. One person sits between K and L. L is not the 
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neighbour of N. P sits to the immediate right of M on the 

same side. 

 

11. Which among the following pairs sit exactly 

between O and N? 

A) M 

B) K 

C) P 

D) Both A and B 

E) Both B and C 

 

12. Which of the following statements is/are true? 

A) P sits second to the right of O 

B) K sits fourth to the left of L 

C) P sits second to the left of N 

D) Both A and B 

E) Both A and C 

 

13.Who among the following sits fourth to the right of 

M? 

A) Person sits exactly between N and O 

B) Person sits third to the right of L 

C) Person sits third to the left of P 

D) Both A and C 

E) Both A and B 

 

14. Which of the following statements is/are not true? 

A) L sits exactly between M and K 

B) N sits to the immediate right of K 

C) P sits exactly between N and L 

D) K sits second to the right of L 

E) All are True 

 

15. Who among the following pairs sit on the same 

side? 

A) N, K 

B) P, O 

C) M, L 

D) K, O 

E) None of These 

 

Directions (16-20): Study the following information 

carefully and answer the questions given below: 

Six persons i.e. Prem, Dhruv, Nidhi, Anshu, Tina and 

Amit are sitting around a triangular table. Two persons 

are sitting on each side of the table. All of them are 

facing inside the table.  

Tina sits second to the left of Prem. One person sits 

between Tina and Anshu. Nidhi and Dhruv are 

immediate neighbours of Anshu. Dhruv sits fourth to the 

right of Amit. Prem and Nidhi do not sit on the same side 

of the table. 

 

16. Which among the following pair sits to the 

immediate left and immediate right of each other 

respectively? 

A) Tina, Dhruv 

B) Prem, Amit 

C) Nidhi, Anshu 

D) Dhruv, Anshu 

E) None of These 

 

17. Who sits exactly between Amit and Nidhi? 

A) Person sits second to the left of Tina 

B) Person sits immediate right of Amit 

C) Person sits third to the left of Anshu 

D) Both A and C 

E) Both B and C 

 

18. __ sits second to the right of ___ 

A) Tina, Anshu 

B) Amit, Nidhi 

C) Amit, Dhruv 

D) Both A and C 

E) Both A and B 

 

19. Who sits to the immediate right of Prem? 

A) Person sits to the immediate right of Anshu 
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B) Person sits to the immediate left of Anshu 

C) Person sits second to the right of Dhruv 

D) Person sits second to the left of Amit 

E) None of These 

 

20. If all the persons sit in the alphabetical order 

starting from Amit in clockwise direction then the 

position of how many persons remain unchanged 

excluding Amit? 

A) 4 

B) 3 

C) 0 

D) 2 

E) 1 

 

Directions (21-25): Study the following information 

carefully and answer the questions given below: 

Nine Persons i.e. A, B, C, D, E, F, G, H and I are sitting 

around a triangular table such that three of them are 

sitting at the corner of the table and two persons are 

sitting on each side of the table. All of them are facing 

inside the table. 

E sits third to the right of D. D does not sit at the corner 

of the table. B sits second to the left of D. C sits to the 

immediate right of E. F sits between B and D. I sit third 

to the right of A. G sits at the middle side of the table but 

not with D. 

 

21. Who among the following sits fourth to the right 

of E? 

A) Person sits second to the left of D 

B) G 

C) B 

D) Both A and C 

E) None of These 

 

22. Which of the following statements is/are true?  

A) H sits second to the right of F 

B) Three persons sit between G and A, from left of G 

C) B sits sixth to the right of H 

D) Both A and B 

E) All A, B and C 

 

23. How many persons are between D and B when 

counted from the right of D?  

A) 8 

B) 7 

C) 6 

D) 5 

E) None of these 

 

24. _sits second to the left of C,and sits second to the 

right of __ 

A) G and F 

B) A and the person sit second to the right of B 

C) Person sits second to the right of D and G 

D) Both A and B 

E) None of These 

 

25. Who among the following sits exactly between I 

and A? 

A) Person sits fourth to the right of C 

B) Person sits third to the left of E 

C) Person sits second to the left of G 

D) Both A and B 

E) Both A and C 

 

Directions (26-30): Study the following information 

carefully and answer the questions given below: 

Six persons i.e. Navya, Komal, Priya, Sanjhi, Arya and 

Janvi are sitting around a nine seated (Three seats at 

corner and two seats on each side) triangular table. All of 

them are facing inside the table. Three seats are vacant.  

Navya sits to the immediate left of Sanjhi but on 

different side of the table. Komal sits second to the right 

of Sanjhi. Priya sits three places away from Komal. Janvi 

sits second to the left of Navya and third to the right of 

Arya.  Arya sits at the corner of the table. 
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26. Who among the following sits third to the right of 

Navya? 

A) Person sits second to the left of the vacant seat 

B) Person sits second to the right of the vacant seat 

C) Person sits to the immediate left of Arya 

D) Both A and B 

E) Both A and C 

 

27. How many persons are sitting between Komal and 

Janvi when counted from the left of Komal? 

A) 4 

B) 3 

C) 2 

D) 5 

E) 1 

 

28. Which among the following pairs sit to the 

immediate left and to the immediate right of each 

other respectively?  

A) Arya and Komal 

B) Priya and Janvi 

C) Sanjhi and Navya 

D) Navya and Janvi 

E) All of the Above 

 

29. Which of the following statements is/are not true 

regarding Janvi? 

A) Janvi is an immediate neighbour of Priya 

B) Komal sits third to the left of Janvi 

C) Janvi sits fourth to the left of Komal 

D) Both B and C 

E) Both A and B 

 

30. If Sanjhi and Priya exchange their position then 

who among the following sits fifth to the right of 

Sanjhi? 

A) Nil 

B) Person sits immediate right of Komal 

C) Person sits third to the right of Navya 

D) Both A and C 

E) None of These 

 

Directions (31-35): Study the following information 

carefully and answer the questions given below: 

Seven persons i.e. Maggie, Mahima, Payal, Nisha, Nishi, 

Anita and Preeti are sitting around a triangular table. 

Three seats at the corner of the table and two seats on 

each side of the table. All of them are facing inside the 

table. Two seats are vacant but not adjacent. 

Payal who sits at the corner of the table is an immediate 

neighbour of Anita. Nishi sits second to the right of 

Payal. Nisha sits four places away from Nishi when 

counting from the right of Nishi. Preeti sits to the 

immediate left of Nisha. Mahima sits second to the left 

of Anita. One of the corner seats of the table is vacant 

near nishi Maggie sits immediate left of preeti. 

 

31. Who among the following sits third to the left of 

Nishi? 

A) Person sits to the immediate left of Payal 

B) Person sits second to the left of Anita 

C) Person sits exactly between Payal and Nisha 

D) Both A and B 

E) None of These 

 

32. Who among the following sits exactly between 

Preeti and Mahima? 

A) Person sits third to the left of Preeti 

B) Person sits fourth to the right of Nisha 

C) Person sits to the immediate left of the vacant seat 

D) All A, B and C 

E) Both A and C 

 

33. Who among the following sits at the same side of 

the table? 

A) Preeti, Maggie 

B) Anita and Nishi 

C) Mahima and the vacant seat 
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D) All of the Above 

E) None of the Above 

 

34. How many persons are sitting between Maggie 

and Mahima?  

A) 5 

B) 4 

C) 3 

D) 2 

E) Either C or D 

 

35. Which of the following statements is/are correct 

regarding Anita? 

A) Anita sits third to the right of Nisha 

B) Anita sits fourth to the right of Preeti 

C) One person sits between Anita and Payal 

D) All are True 

E) None is True 

 

Directions (36-40): Study the following information 

carefully and answer the questions given below: 

Nine persons i.e. P, Q, R, S, T, U, V, W and X are sitting 

around a triangular table. Three persons sit on each side 

of the table. All of them are facing inside the table.  

One person sits between P and V. Both P and V are 

sitting on the same side of the table. One person sits 

between V and X. Q sits to the immediate right of X. R 

sits two places away from P. U sits exactly between R 

and Q. W is not an immediate neighbour of both R and 

X. Three persons sit between S and T when counted from 

the right of T. 

 

36. Q sits __ to the right of V who sits__ to the left of 

X. 

A) Second, Third 

B) Fourth, Third 

C) Third, Second 

D) Third, Fourth 

E) None of These 

 

37. Which among the following pairs sit adjacent to 

each other? 

A) R and the person sit immediate left of P 

B) W and the person sit immediate left of T 

C) S and the person sit second to the right of S 

D) Both A and B 

E) Both A and C 

 

38. How many persons are sitting between X and W 

when counted from the right of X? 

A) 5 

B) 4 

C) 3 

D) 2 

E) 1 

 

39. Who among the following sits fifth to the left of 

Q?  

A) T 

B) W 

C) P 

D) R 

E) None of These 

 

40. Which of the following statements is/are true?  

A) P and V are sitting on the same side 

B) U sits fourth to the left of W 

C) R sits exactly between T and U 

D) All are True 

E) None is True 

 

Directions (41-45): Study the following information 

carefully and answer the questions given below: 

Six persons i.e. Seema, Nimo, Ritu, Riya, Jaya and Pari 

are sitting around a triangular table. There are three seats 

on each side of the table. All of them are facing outside 

the table. Three seats are vacant but they are not 

adjacent. 
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One person sits between Sima and Pari but not on the 

same side of the table. Nimo sits to the immediate right 

of Pari. Riya sits two places away from Sima. Ritu sits 

alone on one of the sides of the table. Jaya and Riya are 

not an immediate neighbours of each other. Jaya does not 

sit adjacent to vacant. 

 

41. Who sits second to the right of Nimo? 

A) Person sits second to the right of Riya 

B) Person sits third to the right of Pari 

C) Person sits exactly between Riya and Jaya 

D) Both A and B 

E) Both A and C 

 

42. Which of the following statements is/are true 

regarding Jaya? 

A) Jaya sits second to the right of the vacant seat 

B) One person sits between Jaya and Riya 

C) Nimo sits second to the right of Jaya 

D) Both A and C 

E) All are True 

 

43. Which of the following pair are immediate 

neighbors? 

A) Pari and Vacant seat 

B) Jaya and Nimo 

C) Pari and Nimo 

D) Both A and B 

E) Both A and C 

 

44. Who among the following sits exactly between 

Jaya and Nimo? 

A) Person sits third to the left of Ritu 

B) Person sits third to the right of Sima 

C) Person sits fifth to the left of Riya 

D) Both A and C 

E) Both A and B 

 

45. If Jaya and Riya exchange their positions then 

who among the following sits fifth to the right of 

Jaya? 

A) Nimo 

B) Pari 

C) Ritu 

D) Riya 

E) None of These 

 

Directions (46-50): Study the following information 

carefully and answer the questions given below: 

Nine persons i.e. A, B, C, D, E, F, G, H and I are sitting 

around a triangular table. All of them are facing outside 

the table. Three persons are sitting on each side of the 

table.  

A and H are sitting to the immediate left and immediate 

right of each other but on different sides of the table. E 

sits second to the right o f H. G sits fourth to the left of 

H. B and D are immediate neighbours of G, B sits second 

to the left of D. Two persons sit between B and F who is 

not an immediate neighbour of E. C sits second to the 

left of I. 

 

46. Who among the following pairs sit together on the 

same side of the table? 

A) I, Band E 

B) A, F and D 

C) B, G and H 

D) F, D and G 

E) None of These 

 

47. If all the persons sit in the alphabetical order 

starting from A in clockwise direction then the 

position of how many persons remain unchanged 

excluding A?  

A) 5 

B) 4 

C) 2 

D) 3 
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E) 0 

 

48. Who among the following sits fourth to the left of 

I?  

A) Person sits exactly between H and F 

B) Person sits third to the right of G 

C) Person sits fifth to the left of B 

D) Both A and B 

E) All of the Above 

 

49. How many persons sit between G and H when 

counted from the left of G?  

A) 5 

B) 4 

C) 6 

D) 3 

E) None of These 

 

 

50. Which of the following statements is/are true? 

A) B sits exactly between F and C 

B) B sits third to the left of A 

C) A sit third to the left of E 

D) Both A and C 

E) Both A and B 

 

 

Detailed Explanation with Answers: 
 

Answers (1-5): 

 

1) E 

2) E 

3) B 

4) D 

5) A 

 

Solutions (1-5): 

 

STEP I: Gaurav sits second to the right of Dolly. 

 

As per this statement, there will be two cases getting 

framed and they are as follows: 

 

CASE I: 

 

 
 

CASE II: 
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STEP II: Two persons sit between Gaurav and Vikky. 

 

As per this statement, the arrangement will look like this: 

 

CASE I: 

 

 
 

CASEII: 

 

 
 

STEP III: Kinjal sits to the immediate left of Vikky. 

 

As per this statement, the arrangement will look like this: 

 

CASE I: 

 

 
 

CASE II: 

 

 
 

STEP IV: Paras faces Kinjal. 

 

As per this statement, the arrangement will look like this: 

 

CASE I: 
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CASE II: 

 

 
 

STEP V: Naina does not sit at the middle side of the 

table. 

 

As per this statement, CASE II will get eliminated and 

we will continue with CASE I and the final arrangement 

will look like this: 

 

CASE I: 

 

 

 

CASE II: 

 

 
 

Answers (6-10): 

 

6) D 

7) E 

8) C 

9) D 

10) A 

 

Solutions (6-10): 

 

STEP I: Akshat and Kiran are immediate neighbours of 

each other. Mishti faces Kiran. 

 

As per this statement, there will be two cases getting 

framed and they are as follows: 

 

CASE I: 
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CASE II: 

 
 

STEP II: Pulkit and Samir are sitting opposite to 

each other. One seat is there between Samir’s seat 

and Mishti’s seat. Vacant place is in the middle of the 

table. Kiran doesn’t sit second to the left of Pulkit. 

 
 

 

Case-1 and Case-1-A gets eliminated since Vacant place 

is in the middle of the table. 

 

Case-2-A gets eliminated since One seat is there between 

Samir’s seat and Mishti’s seat. 

 
Final arrangement 

 
 

Answers (11-15): 

 

11) E 

12) B 

13) D 

14) C 

15) A 

 

Solutions (11-15): 

 

STEP I: Two persons sit between M and O. 
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As per this statement, two cases will get framed and they 

will look like this: 

 

CASE I: 

 

 
 

CASE II: 

 

 
 

STEP II: N sits second to the right of O. 

 

As per this statement, the arrangement will look like this: 

 

CASE I: 

 

 
 

CASE II: 

 

 
 

STEP III: P sits to the immediate right of M on the same 

side. 

 

As per this statement, CASE II will get eliminated and 

we will continue with CASE I and the arrangement will 

look like this: 

 

CASE I: 
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CASE II: 

 

 
 

STEP IV: One person sits between K and L.  

 

As per this statement, the arrangement will look like this: 

 

CASE I: 

 

 
 

 

STEP V: L is not the neighbour of N.  

 

As per this statement, the final arrangement will look 

like this: 

 

 
 

Answers (16-20): 

16) C 

17) B 

18) D 

19) B 

20) E 

 

Solutions (16-20): 
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STEP I: Tina sits second to the left of Prem. 

 

As per this statement, there will be two cases getting 

framed and they are as follows: 

 

CASE I: 

 

 
 

CASE II: 

 

 
 

STEP II: One person sits between Tina and Anshu. 

 

As per this statement, the arrangement will look like this: 

 

CASE I: 

 

 

 
 

CASE II: 

 

 
 

STEP III: Nidhi and Dhruv are immediate neighbours of 

Anshu. 

 

As per this statement, the arrangement will look like this: 

 

CASE I: 
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CASE II: 

 

 
 

STEP IV: Dhruv sits fourth to the right of Amit. 

 

As per this statement, the arrangement will look like this: 

 

CASE I: 

 

 
 

CASE II: 

 

 
 

STEP V: Prem and Nidhi do not sit on the same side of 

the table 

 

As per this statement, CASE I will get eliminated and 

we will continue with CASE II and the final 

arrangement will look like this: 

 

CASE I: 

 

http://bit.ly/2WRWaPG


 

Triangle Seating Arrangement for IBPS RRB Clerk Prelims Exam 
 

Page 16 of 34 

Subscribe Our Yearly Mock Test Pack to Get 1000+ Mock Test for Bank+SSC+Railway Exams 
 

If there are any suggestions/ errors in our PDFs Feel Free to contact us via this email: admin@exampundit.in 

 
 

CASE II: 

 

 
 

 

 

Answers (21-25): 

 

21) D 

22) E 

23) C 

24) B 

25) A 

 

Solutions (21-25): 

 

STEP I: E sits third to the right of D. D does not sit at 

the corner of the table. 

 

As per these statements, there will be two cases getting 

framed and they will look like this: 

 

CASE I: 

 

 
 

CASE II: 
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STEP II: B sits second to the left of D. 

 

As per this statement, the arrangement will look like this: 

 

CASE I: 

 

 
 

CASE II: 

 

 
 

STEP III: C sits to the immediate right of E. 

 

As per this statement, the arrangement will look like this: 

 

CASE I: 

 

 
 

CASE II: 

 

 
 

STEP IV: F sits between B and D. 

 

As per this statement, the arrangement will look like this: 

 

CASE I: 
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CASE II: 

 

 
 

STEP V: I sit third to the right of A. 

 

As per this statement, the arrangement will look like this: 

 

CASE I: 

 

 
 

CASE II: 

 

 
 

STEP VI: G sits at the middle side of the table but not 

with D. 

As per this statement, CASE II will get cancelled and we 

will continue with CASE I and the final arrangement 

will look like this: 

 

CASE I: 
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CASE II: 

 

 
 

 

 

Answers (26-30): 

 

26) E  

27) C 

28) B 

29) D 

30) A 

 

Solutions (26-30): 

 

STEP I: Navya sits to the immediate left of Sanjhi but 

on different side of the table. 

 

As per this statement, there will be two cases getting 

framed and the arrangement will look like this: 

 

CASE I: 

 

 
 

 

CASE II: 

 

 
 

STEP II: Komal sits second to the right of Sanjhi. 
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As per this statement, the arrangement will look like this: 

 

CASE I: 

 

 
 

CASE II: 

 

 
 

STEP III: Priya sits three places away from Komal. 

 

As per this statement, the arrangement will look like this: 

 

CASE I: 

 

 
 

CASE II: 

 

 
 

STEP IV: Janvi sits second to the left of Navya and third 

to the right of Arya.   

 

As per this statement, the arrangement will look like this: 

 

CASE I: 
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CASE II: 

 

 
 

STEP V: Arya sits at the corner of the table. 

 

As per this statement, CASE II will get cancelled and we 

will continue with CASE I and the final arrangement 

will look like this: 

 

CASE I: 

 

 
 

CASE II: 

 

 
 

 

 

 

Answers (31-35): 

 

31) D 

32) E 

33) D 

34) E 

35) E 
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Solutions (31-35): 

 

STEP I: Payal who sits at the corner of the table is an 

immediate neighbour of Anita. 

 

As per this statement, there will be two cases getting 

framed and they will look like this: 

 

CASE I: 

 

 
 

CASE II: 

 

 
 

 

STEP II: Nishi sits second to the right of Payal. 

 

As per this statement, the arrangement will look like this: 

 

CASE I: 

 

 
 

CASE II: 

 

 

 
 

STEP III: Nisha sits four places away from Nishi when 

counting from the right of Nishi. 

 

As per this statement, the arrangement will look like this: 
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CASE I: 

 

 
 

CASE II: 

 

 
 

STEP IV: Preeti sits to the immediate left of Nisha. 

 

As per this statement, the arrangement will look like this: 

 

CASE I: 

 

 
 

CASE II: 

 

 
 

STEP V: Mahima sits second to the left of Anita. 

 

As per this statement, CASE II will get eliminated and 

we will continue with CASE I and the arrangement will 

look like this: 

 

CASE I: 
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CASE II: 

 

 
 

STEP VI: One of the corner seats of the table is vacant. 

Two seats are vacant but not adjacent. 

 

As per these statements, the final arrangement will look 

like this: 

 

CASE I: 

 

 
 

Answers (36-40): 

 

36) C 

37) A 

38) A 

39) C 

40) D 

 

Solutions (36-40): 

 

STEP I: One person sits between P and V. Both P and V 

are sitting on the same side of the table. 

 

As per this statement, there will be two cases getting 

framed and they will look like this: 

 

CASE I: 
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CASE II: 

 

 
 

STEP II: One person sits between V and X. 

 

As per this statement, the arrangement will look like this: 

 

CASE I: 

 

 
 

CASE II: 

 

 
 

STEP III: Q sits to the immediate right of X. 

 

As per this statement, the arrangement will look like this: 

 

CASE I: 
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CASE II: 

 

 
 

STEP IV: R sits two places away from P. 

 

As per this statement, the arrangement will look like this: 

 

CASE I: 

 

 
 

CASE II: 

 

 
 

STEP V: U sits exactly between R and Q. 

 

As per this statement, the arrangement will look like this: 

 

CASE I: 
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CASE II: 

 

 
 

STEP VI: W is not an immediate neighbour of both R 

and X. 

 

As per this statement, the arrangement will look like this: 

 

CASE I: 

 

 
 

CASE II: 

 

 
 

STEP VII: Three persons sit between S and T when 

counted from the right of T. 

 

As per this statement, CASE II will get eliminated and 

we will continue with CASE I and the final arrangement 

will look like this: 

 

CASE I: 
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CASE II: 

 

 
Answers (41-45): 

 

41) B 

42) E 

43) C 

44) D 

45) A 

 

Solutions (41-45): 

 

STEP I: One person sits between Sima and Pari but not 

on the same side of the table. 

 

As per this statement, there will be two cases getting 

framed and they will look like this: 

 

CASE I: 

 

 
 

CASE II: 

 

 
 

STEP II: Nimo sits to the immediate right of Pari. 
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As per this statement, the arrangement will look like this: 

 

CASE I: 

 

 
 

CASE II: 

 

 
 

STEP III: Riya sits two places away from Sima. 

 

As per this statement, the arrangement will look like this: 

 

CASE I: 

 

 
 

CASE II: 

 

 
 

 

STEP IV: Ritu sits alone on one of the sides of the table. 

 

As per this statement, CASE I will get eliminated and 

we will continue with CASE II and the arrangement will 

look like this: 

 

CASE I: 
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CASE II: 

 

 
 

 

STEP V: Jaya and Riya are not an immediate neighbours 

of each other. Three seats are vacant but they are not 

adjacent. 

 

As per these statements, the final arrangement will look 

like this: 

 

CASE II: 

 

 
 

 

Answers (46-50): 

 

46) B 

47) C 

48) E 

49) B  

50) D 

  

Solutions (46-50): 

 

STEP I: A and H are sitting to the immediate left and 

immediate right of each other but on different sides of 

the table. 

 

As per this statement, there will be getting two cases 

framed and they will look like this: 

 

CASE I: 
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CASE II: 

 

 
 

STEP II: E sits second to the right of H. 

 

As per this statement, the arrangement will look like this: 

 

CASE I: 

 

 
 

CASE II: 

 

 
 

STEP III: G sits fourth to the left of H. 

 

As per this statement, the arrangement will look like this: 

 

CASE I: 
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CASE II: 

 

 
 

STEP IV: B and D are immediate neighbours of G and 

B sits to the left of D. 

 

As per this statement, the arrangement will look like this: 

 

CASE I: 

 

 
 

CASE II: 

 

 
 

STEP V: Two persons sit between B and F who is not an 

immediate neighbour of E. 

 

As per this statement, the arrangement will look like this: 

 

CASE I: 
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CASE II: 

 

 
 

STEP VI: C sits second to the left of I. 

 

As per this statement, CASE I will get eliminated and 

we will continue with CASE I and the final arrangement 

will look like this: 

 

CASE I: 

 

 
 

CASE II: 
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